

Ann. Funct. Anal. 8 (2017), no. 3, 341–349 http://dx.doi.org/10.1215/20088752-0000018X ISSN: 2008-8752 (electronic) http://projecteuclid.org/afa

ON THE WEAK CONVERGENCE THEOREM FOR NONEXPANSIVE SEMIGROUPS IN BANACH SPACES

RONGJIE YAO and LIPING YANG^{*}

Communicated by M. Japón Pineda

ABSTRACT. Assume that K is a closed convex subset of a uniformly convex Banach space E, and assume that $\{T(s)\}_{s>0}$ is a nonexpansive semigroup on K. By using the following implicit iteration sequence $\{x_n\}$ defined by

$$x_n = (1 - \alpha_n)x_{n-1} + \alpha_n \cdot \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds, \quad \forall n \ge 1,$$

the main purpose of this paper is to establish a weak convergence theorem for the nonexpansive semigroup $\{T(s)\}_{s>0}$ in uniformly convex Banach spaces without the Opial property. Our results are different from some recently announced results.

1. INTRODUCTION

Suppose that E is a real Banach space and that K is a nonempty subset of E. A 1-parameter family $\mathfrak{T} = \{T(t) : 0 \le t < \infty\}$ of Lipschitz operators from K into itself is said to be a *semigroup of Lipschitz operators* on K if it satisfies the following conditions:

(i) $T(0)x = x, \forall x \in K;$

(ii) T(t+s)x = T(t)T(s)(x) for each $t, s \ge 0$ and $x \in K$;

(iii) for each $x \in K$, the mapping $t \mapsto T(t)x$ is continuous on $[0, \infty)$;

Copyright 2017 by the Tusi Mathematical Research Group.

Received May 27, 2016; Accepted Oct. 26, 2016.

First published online Apr. 22, 2017.

^{*}Corresponding author.

²⁰¹⁰ Mathematics Subject Classification. Primary 47H09; Secondary 47H10.

Keywords. nonexpansive semigroups, fixed point, implicit iteration scheme, uniformly convex Banach spaces.

(iv) for $\tau > 0$ there exists $L_{\tau} > 0$ such that $||T(t)x - T(t)y|| \le L_{\tau} ||x - y||$ for each $t \in [0, \tau]$ and $x, y \in K$.

A Lipschitz semigroup \mathfrak{T} is said to be *nonexpansive* if $L_{\tau} = 1$ for all $\tau > 0$. Let $F(\mathfrak{T})$ be the common fixed point set of the semigroup \mathfrak{T} ; that is, $F(\mathfrak{T}) = \{x \in K : T(s)x = x, \forall s > 0\}$.

The fixed point method has a large number of applications in many areas, such as in optimization theory, control theory, economics, and nonlinear analysis. Iterative approximation construction of fixed points is vigorously proposed and analyzed for various classes of maps in different spaces. We point out that an implicit process is generally desirable when no explicit scheme is available. Such a process is generally used as a "tool" to establish the convergence of an explicit scheme. Additionally, implicit algorithms provide better approximation of fixed points than explicit algorithms (see [12], [13]).

Iterative approximation techniques of fixed points of nonexpansive mappings (and of common fixed points of nonexpansive semigroups) is an important subject in nonlinear operator theory and its applications, in particular, in image recovery and signal processing (see [3], [9]).

Several authors (e.g., see Khan et al. [8], Yang et al. [14], and Zeidler [15]) discussed the weak or strong convergence of implicit iterative approximation for nonlinear mappings. Under a real uniformly convex Banach space with the Opial property or with a Fréchet differentiable norm, Khan et al. [8], Yang et al. [14], and Zeidler [15] studied the weak convergence in mean ergodic theorems. However, many important spaces like L_p for $1 \le p \ne 2$ do not possess the Opial property.

Inspired and motivated by the above results, we aim in this paper to better understand the weak convergence of an implicit iteration approximation for nonexpansive semigroups $\{T(t) : 0 \le t < \infty\}$ in uniformly convex Banach spaces without Opial property. Hence the present article opens a new research direction.

First, we will collect some well-known concepts and results. Let E be a Banach space with dimension $E \ge 2$, and let E^* be its dual. The modulus of convexity of E is the function $\delta_E : (0, 2] \rightarrow [0, 1]$ defined by

$$\delta_E(\varepsilon) = \inf \left\{ 1 - \frac{1}{2} \|x + y\| : \|x\| = \|y\| = 1, \|x - y\| = \varepsilon \right\}$$

A Banach space E is uniformly convex if and only if $\delta_E(\varepsilon) > 0$ for all $\varepsilon \in (0, 2]$.

A sequence $\{x_n\}$ in a normed linear space E is said to converge weakly to x if

$$\lim_{n \to \infty} f(x_n) = f(x)$$

for every f in the dual space E^* of E. This relation is indicated by $x_n \rightharpoonup x$. Let $\varpi_w(\{x_n\}) = \{x : \exists x_{n_j} \rightharpoonup x\}$ denote the weak limit set of $\{x_n\}$ and $x_{n_j} \subset \{x_n\}$.

A Banach space is said to have the Kadec-Klee property (see [6]) if, whenever $x \in \varpi_w(\{x_n\})$ with $\lim_{n\to\infty} ||x_n|| = ||x||$, it then follows that $\lim_{n\to\infty} x_n = x$ strongly.

Lemma 1.1 ([4, Lemma 2.7]). Suppose that K is a closed convex subset of a uniformly convex Banach space E. Let $\mathfrak{T} = \{T(t) : 0 \le t < \infty\}$ be a nonexpansive

semigroup on K such that $F(\mathfrak{T})$ is nonempty. Then for each r > 0 and h > 0,

$$\lim_{t \to \infty} \sup_{x \in K \cap B_r} \left\| \frac{1}{t} \int_0^t T(s) x \, ds - T(h) \frac{1}{t} \int_0^t T(s) x \, ds \right\| = 0,$$

where B_r denotes the closed ball in E with center 0 and radius r.

Lemma 1.2 (see [10]). Let E be a uniformly convex Banach space, and let a, b be two constants with 0 < a < b < 1. Suppose that $\{\alpha_n\}$ is a real sequence in [a, b]and that $\{\rho_n\}$, $\{\tau_n\}$ are two sequences in E such that

$$\begin{cases} \limsup_{n \to \infty} \|\rho_n\| \le c, \\ \limsup_{n \to \infty} \|\tau_n\| \le c, \\ \lim_{n \to \infty} \|\alpha_n \rho_n + (1 - \alpha_n)\tau_n\| = c. \end{cases}$$

Then $\lim_{n\to\infty} \|\rho_n - \tau_n\| = 0$, where $c \ge 0$ is some constant.

Lemma 1.3 ([7, Lemma 2]). Assume that E is a real reflexive Banach space such that its dual E^* has the Kadec-Klee property. Let $\{x_n\}$ be a bounded sequence in E, with $p_1, p_2 \in \varpi_w(\{x_n\})$. Suppose that $\lim_{n\to\infty} \|\alpha x_n + (1-\alpha)p_1 - p_2\|$ exists for all $\alpha \in [0, 1]$. Then $p_1 = p_2$.

Lemma 1.4 ([11, Lemma 2]). Let two fixed real numbers be q > 1 and D > 0. Then a Banach space E is uniformly convex if and only if there is a strictly increasing, continuous, and convex function $g : [0, \infty) \to [0, \infty), g(0) = 0$ such that

$$\left\|\lambda x + (1-\lambda)y\right\|^{q} \le \lambda \|x\|^{q} + (1-\lambda)\|y\|^{q} - \omega_{q}(\lambda)g(\|x-y\|)$$

for all $x, y \in B_D$ and $\lambda \in [0, 1]$, where B_D is the closed ball with center zero and radius D, $\omega_q(\lambda) = \lambda(1-\lambda)^q + \lambda^q(1-\lambda)$.

Lemma 1.5 ([1, Theorem 2.3.7]). Let *E* be a Banach space with modulus of convexity of δ_E . Then $\frac{\delta_E(s)}{s}$ is a nondecreasing function on (0, 2].

Lemma 1.6 (see [2]). Let E be a real uniformly convex Banach space, let K be a nonempty closed convex subset of E, and let T be a nonexpansive mapping of K into itself with $F(T) \neq \phi$. Let $\{x_n\} \subset K$ be a sequence such that $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$ and $\{x_n\}$ converges weakly to z. Then z is a fixed point of T.

2. Implicit iterative approximation

Let K be a closed convex subset of a uniformly convex Banach space E, and let $\mathfrak{T} = \{T(t) : 0 \leq t < \infty\}$ be a nonexpansive semigroup on K. For $x_0 \in K$, $n \geq 1$, compute the implicit iteration process $\{x_n\}$ defined by the following formula:

$$x_n = (1 - \alpha_n) x_{n-1} + \alpha_n \cdot \frac{1}{t_n} \int_0^{t_n} T(s) x_n \, ds, \qquad (2.1)$$

where $\{\alpha_n\} \subset (0,1)$ is bounded away from 0 and 1 and $\{t_n\} \subset (0,\infty)$. For $n \in \mathbb{N} = \{1, 2, \ldots\}, u, v \in K$, define

$$Q_n^v(u) = (1 - \alpha_n)v + \alpha_n \cdot \frac{1}{t_n} \int_0^{t_n} T(s)u \, ds.$$
 (2.2)

For $u_1, u_2 \in K$, we have

$$\begin{aligned} \left\| Q_n^v(u_1) - Q_n^v(u_2) \right\| &= \left\| \alpha_n \cdot \frac{1}{t_n} \int_0^{t_n} \left(T(s)u_1 - T(s)u_2 \right) ds \right\| \\ &\leq \alpha_n \cdot \frac{1}{t_n} \int_0^{t_n} \left\| T(s)u_1 - T(s)u_2 \right\| ds \\ &\leq \alpha_n \| u_1 - u_2 \|. \end{aligned}$$

This implies that each $Q_n^v(u) : K \to K$ is a contraction. It follows from the Banach contraction principle that each x_n in (2.1) is uniquely defined.

The next two results deal with the general behavior of the implicit iterative processes of (2.1).

Lemma 2.1. Let E be a Banach space, let K be a nonempty convex subset of E, and let a, b be two constants with 0 < a < b < 1. Let \mathfrak{T} be a nonexpansive semigroup on K, and let $F(\mathfrak{T}) \neq \emptyset$. Suppose that $\{x_n\}$ is defined by (2.1) with $a \leq \alpha_n \leq b$ for all $n \geq 1$, $t_n \to \infty$ as $n \to \infty$ and $p \in F(\mathfrak{T})$. Then

- (i) there exists $c \ge 0$ such that $\lim_{n\to\infty} ||x_n p|| = c$,
- (ii) $\lim_{n\to\infty} ||x_n T(s)x_n|| = 0$ for every s > 0.

Proof. (i) It follows from (2.1) that

$$\|x_n - p\| = \left\| (1 - \alpha_n)(x_{n-1} - p) + \alpha_n \cdot \frac{1}{t_n} \int_0^{t_n} (T(s)x_n - T(s)p) \, ds \right\|$$

$$\leq (1 - \alpha_n) \|x_{n-1} - p\| + \alpha_n \cdot \frac{1}{t_n} \int_0^{t_n} \|T(s)x_n - T(s)p\| \, ds$$

$$\leq (1 - \alpha_n) \|x_{n-1} - p\| + \alpha_n \|x_n - p\|.$$
(2.3)

It follows from (2.3) that $||x_n - p|| \le ||x_{n-1} - p||$. Therefore, there exists $c \ge 0$ such that $\lim_{n\to\infty} ||x_n - p|| = c$.

(ii) Let $K_1 = \{z \in K : ||z - p|| \le \tau_0\}$. Then K_1 is a nonempty bounded closed convex subset of K, and T(s)-invariant. Since $\{x_n\} \subset K_1$ and K_1 is bounded, there exists $\tau > 0$ such that $K_1 \subset B_{\tau}$. It follows from Lemma 1.1 that

$$\lim_{n \to \infty} \left\| T(s) \frac{1}{t_n} \int_0^{t_n} T(s) x_n \, ds - \frac{1}{t_n} \int_0^{t_n} T(s) x_n \, ds \right\| = 0.$$
(2.4)

Since

$$\left\| \frac{1}{t_n} \int_0^{t_n} T(s) x_n \, ds - p \right\| = \left\| \frac{1}{t_n} \int_0^{t_n} \left(T(s) x_n - T(s) p \right) \, ds \right\|$$

$$\leq \frac{1}{t_n} \int_0^{t_n} \left\| T(s) x_n - T(s) p \right\| \, ds$$

$$\leq \| x_n - p \|,$$

then

$$\limsup_{n \to \infty} \left\| \frac{1}{t_n} \int_0^{t_n} T(s) x_n \, ds - p \right\| \le c. \tag{2.5}$$

Since $\lim_{n\to\infty} ||x_n-p|| = \lim_{n\to\infty} ||\alpha_n(x_{n-1}-p)+(1-\alpha_n)(\frac{1}{t_n}\int_0^{t_n} T(s)x_n\,ds-p)|| = c$ and observe $\lim_{n\to\infty} ||x_{n-1}-p|| = c$, it follows from (2.5) and Lemma 1.2 that

$$\lim_{n \to \infty} \left\| \frac{1}{t_n} \int_0^{t_n} T(s) x_n \, ds - x_{n-1} \right\| = 0.$$
(2.6)

Note that $x_n - x_{n-1} = (1 - \alpha_n)(\frac{1}{t_n} \int_0^{t_n} T(s) x_n \, ds - x_{n-1})$. Therefore, by (2.6) we can conclude that

$$\lim_{n \to \infty} \|x_n - x_{n-1}\| = 0.$$
(2.7)

Since

$$\lim_{n \to \infty} \left\| \frac{1}{t_n} \int_0^{t_n} T(s) x_n \, ds - x_n \right\| \le \lim_{n \to \infty} \left\| \frac{1}{t_n} \int_0^{t_n} T(s) x_n \, ds - x_{n-1} \right\| + \lim_{n \to \infty} \| x_{n-1} - x_n \|,$$

it follows from (2.6) and (2.7) that we have

γ

$$\lim_{n \to \infty} \left\| \frac{1}{t_n} \int_0^{t_n} T(s) x_n \, ds - x_n \right\| = 0.$$
(2.8)

Note that

$$\begin{aligned} \|x_n - T(s)x_n\| \\ &= \left\| \left(x_n - \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds \right) + \left(\frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds - T(s) \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds \right) \\ &+ \left(T(s) \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds - T(s)x_n \right) \right\| \\ &\leq \left\| x_n - \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds \right\| + \left\| \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds - T(s) \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds \right\| \\ &+ \left\| T(s) \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds - T(s)x_n \right\| \\ &\leq 2 \left\| x_n - \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds - T(s) \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds \right\| \\ &+ \left\| \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds - T(s) \frac{1}{t_n} \int_0^{t_n} T(s)x_n \, ds \right\|. \end{aligned}$$

Then it follows from (2.4) and (2.8) that $\lim_{n\to\infty} ||x_n - T(s)x_n|| = 0$. This completes the proof.

3. Main results

In this section, we will first prove the demiclosed principle for a nonexpansive semigroup in uniformly convex Banach spaces. Since the dual of reflexive Banach spaces with the Opial property or a Fréchet differentiable norm has the Kadec–Klee property, our theorems generalize the known ones.

345

Lemma 3.1. Let K be a closed and convex subset of a uniformly convex Banach space E, and let a, b be two constants with 0 < a < b < 1. Let \mathfrak{T} be a nonexpansive semigroup on K, $F(\mathfrak{T}) \neq \emptyset$, and let $\{x_n\}$ be defined by (2.1) with $a \leq \alpha_n \leq b$ for all $n \geq 1$, $t_n \to \infty$ as $n \to \infty$. Then for $\omega_1, \omega_2 \in F(\mathfrak{T})$, the limit $\lim_{n\to\infty} ||tx_n + (1-t)\omega_1 - \omega_2||$ exists for all $t \in [0, 1]$.

Proof. Let $a_n(t) = ||tx_n + (1-t)\omega_1 - \omega_2||$. Then $\lim_{n\to\infty} a_n(0) = ||\omega_1 - \omega_2||$ exists. It follows from Lemma 2.1(i) that $\lim_{n\to\infty} a_n(1) = \lim_{n\to\infty} ||x_n - \omega_2||$ exists. It now remains to prove the lemma for $t \in (0, 1)$. Define

$$Q_n^{\omega}(u) = \alpha_n \cdot \frac{1}{t_n} \int_0^{t_n} T(s)u \, ds + (1 - \alpha_n)\omega,$$

where $n \in \mathbb{N}$, $u \in K$, $\omega \in K$. Since $Q_n^{\omega} : K \to K$ is a contraction, by the Banach contraction principle there exists a unique $u_{n,\omega} \in K$ such that $Q_n^{\omega}(u_{n,\omega}) = u_{n,\omega}$. Thus, for any natural number n, we can define the mapping $A_n : K \to K$ by $A_n(\omega) = u_{n,\omega}$ for each $\omega \in K$. And we have $x_{n+1} = A_n(x_n)$ for all $n \in \mathbb{N}$. Note that $A_n(v_i) = u_i$ if and only if

$$u_i = \alpha_n \cdot \frac{1}{t_n} \int_0^{t_n} T(s) u_i \, ds + (1 - \alpha_n) v_i$$

For any $v_1, v_2 \in K$, we have

$$\begin{aligned} \|A_n(v_1) - A_n(v_2)\| &= \|u_1 - u_2\| \\ &\leq \alpha_n \cdot \frac{1}{t_n} \left\| \int_0^{t_n} \left(T(s)u_1 - T(s)u_2 \right) ds \right\| + (1 - \alpha_n) \|v_1 - v_2\| \\ &\leq \alpha_n \cdot \frac{1}{t_n} \int_0^{t_n} \|T(s)u_1 - T(s)u_2\| \, ds + (1 - \alpha_n) \|v_1 - v_2\| \\ &\leq \alpha_n \|u_1 - u_2\| + (1 - \alpha_n) \|v_1 - v_2\|; \end{aligned}$$

that is

$$||u_1 - u_2|| \le \alpha_n ||u_1 - u_2|| + (1 - \alpha_n) ||v_1 - v_2||,$$

which implies that

$$||A_n(v_1) - A_n(v_2)|| = ||u_1 - u_2|| \le ||v_1 - v_2||.$$

Therefore, each A_n is a nonexpansive mapping. Let $\omega \in F(\mathfrak{T})$. This means $T(s)\omega = \omega$, and hence

$$\alpha_n \cdot \frac{1}{t_n} \int_0^{t_n} T(s)\omega \, ds + (1 - \alpha_n)\omega = \omega.$$

This implies that $F(\mathfrak{T}) \subset \bigcap_{n=1}^{\infty} F(A_n)$. Set

$$U_{n,m} = A_{n+m-1} \circ A_{n+m-2} \circ \dots \circ A_n \quad \text{for } m \ge 1.$$

Then $U_{n,m}: K \to K$ is a nonexpansive mapping, and $U_{n,m}(\omega) = \omega$, $U_{n,m}x_n = x_{n+m}$ for $\omega \in F(\mathfrak{T})$, $m, n \in \mathbb{N}$. If $||x_n - \omega_1|| = 0$ for some $n_0 \in \mathbb{N}$, then we have $x_n = \omega_1$ for all $n \in \mathbb{N}$. Indeed, if $n < n_0$, then it follows from (2.1) that we have $x_{n_0-1} = x_{n_0-2} = \cdots = x_1 = \omega_1$. If $n > n_0$, since the sequence $\{||x_n - \omega_1||\}$ is

nonincreasing, then we also have $x_n = \omega_1$. Thus we may assume that $||x_n - \omega_1|| > 0$ for all $n \in \mathbb{N}$. Set

$$b_{n,m} = U_{n,m} (tx_n + (1-t)\omega_1) - tU_{n,m}x_n - (1-t)U_{n,m}\omega_1,$$

$$L_n = t(1-t) ||x_n - \omega_1||,$$

$$W_{n,m} = \frac{U_{n,m}\omega_1 - U_{n,m}(tx_n + (1-t)\omega_1)}{t||x_n - \omega_1||},$$

$$D_{n,m} = \frac{U_{n,m}(tx_n + (1-t)\omega_1) - U_{n,m}x_n}{(1-t)||x_n - \omega_1||}.$$

Since $U_{n,m}: K \to K$ is a nonexpansive mapping, then we have $||W_{n,m}|| \leq 1$ and $||D_{n,m}|| \leq 1$. Note that E is a uniformly convex space, and we have

$$\begin{aligned} \|tx + (1-t)y\| &\leq 1 - 2\min\{t, 1-t\}\delta_E(\|x-y\|) \\ &\leq 1 - 2t(1-t)\delta_E(\|x-y\|) \end{aligned}$$
(3.1)

for all $t \in [0, 1]$ and $x, y \in E$ such that $||x|| \le 1$ and $||y|| \le 1$. Therefore, it follows from (3.1) that

$$2t(1-t)\delta_E(\|W_{n,m} - D_{n,m}\|) \le 1 - \|tW_{n,m} + (1-t)D_{n,m}\|.$$
(3.2)

Note that

$$\|W_{n,m} - D_{n,m}\| = \frac{\|b_{n,m}\|}{L_n},$$

$$\|tW_{n,m} + (1-t)D_{n,m}\| = \frac{\|U_{n,m}x_n - U_{n,m}\omega_1\|}{\|x_n - \omega_1\|} = \frac{\|x_{n+m} - \omega_1\|}{\|x_n - \omega_1\|}.$$

Then it follows from (3.2) that

$$2L_n \delta_E \left(\frac{\|b_{n,m}\|}{L_n}\right) \le \|x_n - \omega_1\| - \|x_{n+m} - \omega_1\|.$$
(3.3)

It follows from Lemma 1.5 that $\frac{\delta_E(s)}{s}$ is nondecreasing. Note that $\lim_{n\to\infty} ||x_n - \omega_1|| = \lim_{n\to\infty} ||x_{n+m} - \omega_1||$ and $\delta_E(0) = 0$. The continuity of δ_E gives from inequality (3.3) that $\liminf_n (\limsup_m ||b_{n,m}||) = 0$ uniformly for all m; that is

$$\liminf_{n} \left(\limsup_{m} \left\| U_{n,m} (tx_n + (1-t)\omega_1) - tU_{n,m}x_n - (1-t)U_{n,m}\omega_1 \right\| \right) = 0.$$

On the other hand, we have

$$a_{n+m}(t) \leq \|tx_{n+m} + (1-t)\omega_1 - \omega_2 + (U_{n,m}(tx_n + (1-t)\omega_1) - tU_{n,m}x_n - (1-t)U_{n,m}\omega_1)\| + \| - (U_{n,m}(tx_n + (1-t)\omega_1) + tU_{n,m}x_n + (1-t)U_{n,m}\omega_1)\| = \|U_{n,m}(tx_n + (1-t)\omega_1) - \omega_2\| + \|U_{n,m}(tx_n + (1-t)\omega_1) - tU_{n,m}x_n - (1-t)U_{n,m}\omega_1\| \leq a_n(t) + \|U_{n,m}(tx_n + (1-t)\omega_1) - tU_{n,m}x_n - (1-t)U_{n,m}\omega_1\|.$$

Therefore, $\limsup_{n\to\infty} a_n(t) \leq \liminf_{n\to\infty} a_n(t)$. This implies that $\lim_{n\to\infty} a_n(t)$ exits for all $t \in [0, 1]$. This completes the proof.

347

Now, we prove the weak convergence of the implicit iterative processes (2.1) for nonexpansive semigroups.

Theorem 3.2. Let E be a uniformly convex Banach space such that its dual E^* has the Kadec-Klee property and K is a nonempty closed convex subset of E. Let \mathfrak{T} be a nonexpansive semigroup on K, and let a, b be two constants with 0 < a < b < 1. Let $\{x_n\}$ be defined by (2.1) satisfying $\{\alpha_n\} \subset [a, b]$ for all $n \ge 1$ and $t_n \to \infty$ as $n \to \infty$. Then there exists a common fixed point $w \in F(\mathfrak{T})$ such that $x_n \rightharpoonup w$.

Proof. By Lemma 2.1(i), we get that $\{x_n\}$ is bounded. Since E is a uniformly convex Banach space, $\{x_n\}$ has a weakly convergent subsequence $\{x_{n_k}\}$. Assume that $\{x_{n_k}\}$ converges weakly to w for $k \to \infty$. Note that $\{x_n\} \subset K$ and K is weakly closed. Then $w \in K$. By Lemma 2.1(ii), we get $\lim_{n\to\infty} ||x_n - T(s)x_n|| = 0$. By Lemma 1.6, we have $w \in F(\mathfrak{T})$. Assume that $\{x_n\}$ does not converge weakly to w. Then $\exists \{x_{n_j}\} \subset \{x_n\}$ such that $\{x_{n_j}\}$ converges weakly to some $p \neq w$. As in the case of w, we must have $p \in K$ and $p \in F(\mathfrak{T})$. It follows from Lemma 3.1 that $\lim_{n\to\infty} ||tx_n + (1-t)w - p||$ exists for all $t \in [0, 1]$. By Lemma 1.3, we have that p = w. Hence $\{x_n\}$ converges weakly to w. This completes the proof. \Box

Remark 3.3. The result of Theorem 3.2 is different from Theorem 3.4 of [5]. In this paper, T is a nonexpansive semigroup, but in Theorem 3.4 of [5] T_1, T_2, \ldots, T_m are a finite family of asymptotically nonexpansive mappings. Additionally, the iterative process $\{x_n\}$ defined by (2.1) in this article is different from $\{x_n\}$ defined by (3.1) of [5].

Acknowledgments. The authors are grateful to the referees for comments that helped improve the presentation of this article.

Yang's work was supported by National Natural Science Foundation of China (NSFC) grant 61374081, the Humanity and Social Science Planning (Youth) Foundation of Ministry of Education of China grants 14YJAZH095 and 16YJC630004, the Natural Science Foundation of Guangdong Province grant 2015A030313485, and the Guangzhou Science and Technology Project grant 201707010494.

References

- R. P. Agarwal, D. O'Regan, and D. R. Sahu, Fixed Point Theory for Lipschitzian-type Mappings with Applications, Springer, New York, 2009. Zbl 1176.47037. MR2508013. DOI 10.1007/978-0-387-75818-3. 343
- F. E. Browder, "Nonlinear operators and nonlinear equations of evolution in Banach spaces" in Nonlinear Functional Analysis (Chicago, 1968), Amer. Math. Soc., Providence, 1976, 1–308. Zbl 0327.47022. MR0405188. 343
- C. Byrne, A unified treatment of some iterative algorithms in signal processing and image contruction, Inverse Problems 20 (2004), no. 1, 103–120. Zbl 1051.65067. MR2044608. DOI 10.1088/0266-5611/20/1/006. 342
- R. Chen and Y. Song, Convergence to common fixed point of nonexpansive semigroups, J. Comput. Appl. Math. 200 (2007), no. 2, 566–575. Zbl 1204.47076. MR2289235. DOI 10.1016/j.cam.2006.01.009. 342

- C. E. Chidume and B. Ali, Weak and strong convergence theorems for finite families of asymptotically nonexpansive mappings in Banach spaces, J. Math. Anal. Appl. 330 (2007), no. 1, 377–387. Zbl 1141.47039. MR2302930. DOI 10.1016/j.jmaa.2006.07.060. 348
- K. Geobel and W. A. Kirk, *Topics in Metric Fixed Point Theory*, Cambridge Stud. Adv. Math. 28, Cambridge Univ. Press, Cambridge, 1990. Zbl 0708.47031. MR1074005. DOI 10.1017/CBO9780511526152. 342
- W. Kaczor, Weak convergence of almost orbits of asymptotically nonexpansive commutative semigroups, J. Math. Anal. Appl. 272 (2002), no. 2, 565–574. Zbl 1058.47049. MR1930859. DOI 10.1016/S0022-247X(02)00175-0. 343
- A. R. Khan, H. Fukhar-ud-din, and M. A. A. Khan, An implicit algorithm for two finite families of nonexpansive maps in hyperbolic spaces, Fixed Point Theory Appl. 2012 (2012), art. ID 54. Zbl 1345.54055. MR2944580. 342
- C. I. Podilchuk and R. J. Mammone, Image recovery by convex projections using a leastsquares constraint, J. Opt. Soc. Am. A7 (1990), 517–521. 342
- J. Schu, Weak and strong convergence of fixed points of asymptotically nonexpansive mappings, Bull. Aust. Math. Soc. 43 (1991), no. 1, 153–159. Zbl 0709.47051. MR1086729. DOI 10.1017/S0004972700028884. 343
- H. K. Xu, Inequalities in Banach spaces with applications, Nonlinear Anal. 16 (1991), no. 12, 1127–1138. Zbl 0757.46033. MR1111623. DOI 10.1016/0362-546X(91)90200-K. 343
- H. K. Xu and R. G. Ori, An implicit iteration process for nonexpansive mappings, Numer. Funct. Anal. Optim. 22 (2001), no. 5–6, 767–773. Zbl 0999.47043. MR1849577. DOI 10.1081/NFA-100105317. 342
- L. P. Yang, Convergence of the new composite implicit iteration process with random errors, Nonlinear Anal. TMA 69 (2008), no. 10, 3591–3600. Zbl 1228.47064. MR2450562. DOI 10.1016/j.na.2007.09.043. 342
- L. P. Yang and W. M. Kong, Stability and convergence of a new composite implicit iterative sequence in Banach spaces, Fixed Point Theory Appl. 2015 (2015), art. ID 172. Zbl 1346.47076. MR3400646. DOI 10.1186/s13663-015-0425-z. 342
- E. Zeidler, Nonlinear Functional Analysis and Its Applications, I: Fixed Points Theorems, Springer, New York, 1986. Zbl 0583.47050. MR0816732. 342

School of Applied Mathematics, Guangdong University of Technology, Guangzhou 510520, People's Republic of China.

E-mail address: 329500842@qq.com; yanglping2003@126.com